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Match #41


These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Jason Mueller, Marian Suter, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District, without prior approval of Shawn Pickrell, is prohibited. This is meant to keep question security.

(b)
The discussion or other reference to these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined is prohibited. This is also meant to keep question security.

(c)
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups, 10 points each

1. 
In 1560, he defeated Imagawa (ee-mah-GAH-wah) Yoshimoto (yoh-shee-MOH-toh). In 1573, he overthrew the Ashikaga (ah-shee-KAH-gah) shogunate, but was assassinated in 1582. Who is this daimyo (DYE-myoh) that sponsored increased trade with Europe and sought to unify Japan?

ANSWER: Oda Nobunaga

2. 
What type of reasoning is used in the following set of statements: Mike is a man. All men have Y-chromosomes. Therefore, Mike has a Y chromosome?

ANSWER:  inductive (NOT deductive)

3. 
Although she was home schooled and her parents were conservative Christians, she had been secretly dating an 18-year-old boyfriend. An Amber Alert in the mid-Atlantic was issued for her on November 14 after she was apparently kidnapped by this boyfriend, David Ludwig, who killed her parents. Who is this 14-year-old from Pennsylvania that shares a name with a woman that allegedly "took an axe and gave her mother forty whacks?"

ANSWER: Kara Beth Borden
4.
In Luigi Pirandello's play, how many characters are in search of an author?

ANSWER: six (Six Characters in Search of an Author)

5. 
In men, what gland is responsible for the most cases of cancer?

ANSWER:  prostate gland

6. 
It was the name of a 1996 album from Rage Against the Machine. Ronald Reagan, who first used the term, said the USSR was no longer one of these after meeting with Mikhail Gorbachev in 1986. What was this term used by Reagan and other Cold War hawks to describe the Soviet Union during the 1980s?

ANSWER: evil empire
7. 
He decided to become an artist while working in the boiler room of a ship, while a 1930 meeting with Piet Mondrian inspired his move to abstract art.  He created several stabile sculptures, including Sword Plant and Devil Fish, but is better known for an art form named by Marcel Duchamp (doo-SHAHMP).  Who was this American sculptor of Snow Flurry and La Spirale, among his many mobiles?

ANSWER:  Alexander Calder
8. 
The brightest star in this constellation is only around magnitude 2.9. However, its location between Capricorn and Pisces brings it some fame. What Zodiac constellation's Age will not start until around 2650 AD, despite the Fifth Dimension's proclaiming its dawning in 1967?

ANSWER: Aquarius
9.
He was awarded the Nobel Prize in Literature in 1929 before leaving Germany when Hitler came to power. He moved to America and wrote such works as Buddenbrooks, Confessions of Felix Krull, and The Magic Mountain. Name him.

ANSWER: Thomas Mann (mahn)

10. 
Finally captured in 2003, this former fugitive has been sentenced to live in prison for bombings at abortion clinics in Atlanta and Birmingham, as well as a bombing at a gay nightclub in Atlanta.  In July 2005, what North Carolinian received four additional life terms for the 1996 bombing of Centennial Park during the Atlanta Olympics?

ANSWER: Eric Robert Rudolph
11. 
This opera is the one the Marx Brothers attempt to produce in their movie "A Night at the Opera".  The first act is set in Count Luna's castle, as the Count and Manrico both pine for Leonora.  The story ends in tragedy, however, as Leonora poisons herself and Manrico is executed in what 1853 Giuseppe Verdi opera, whose second act begins with Gypsies performing the Anvil Chorus?

ANSWER:  Il Trovatore (or The Troubadour)  

12. 
In his only book of poetry, he says "I am large, I contain multitudes" in the poem "I Sing the Body Electric." Name this poet who wrote Leaves of Grass, in which this poem is found.

ANSWER: Walt Whitman 

13. 
This scale was developed in 1935 by two geologists at Caltech. It has no upper or lower limit, and thousands of events with a negative value on this scale occur every day -- due to the sensitivity of modern measuring instruments. What scale's highest reading in modern history was a 9.5, recorded in 1960 in the Great Chilean Earthquake?

ANSWER: Richter scale

14. 
His first novel, Lie Down in Darkness, is set in his native Tidewater Virginia. Later works include The Long March, Set This House on Fire and The Confessions of Nat Turner. Name this author.

ANSWER: William Styron
15. 
The United States Marine Corps War Memorial in Arlington is a statue based on a picture taken on this island. What was this island where, on Mount Suribachi (soo-ree-BAH-chee), a photograph was taken of four Marines raising the US flag? 

ANSWER: Iwo Jima
Second period, 10 directed questions per team, 10 points each

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A. 
THIS IS A COMPUTATION QUESTION. When a single loaded die is rolled, a 1 and 2 will not come up, a 3 will come up 10% of the time, a 4 will come up 20% of the time, a 5 will come up 30% of the time and a 6 will come up 40% of the time. What is the chance of a 7 being rolled on a pair of dice?

ANSWER:  4% or 1 in 25 (3-4 is 10% * 20% and 4-3 is 20 * 10%)

1B. 
What Virginia planter made tobacco a profitable crop in Virginia, but is best-known for marrying Pocahantas?

ANSWER: John Rolfe
2A. 
6.63 times 10 to the minus 34 joule-seconds is the approximate value of what constant abbreviated h?

ANSWER:  Planck's constant

2B. 
What three words describe the feature of Microsoft Windows where the operating system will automatically detect and configure new peripheral devices?

ANSWER: plug and play
3A. 
What type of law is used to address civil wrongs such as personal injury cases, and in fact means 'wrong' in French?

ANSWER: tort law

3B. 
What Sunday night ABC TV show starring Patrick Dempsey as Dr. Derek Shepherd shares its name with a famous medical textbook?

ANSWER:  Grey's Anatomy (book is spelled "Gray", but close enough) 

4A. 
Name the American horror writer who wrote The Running Man and The Long Walk under the name of Richard Bachman (bock-man).

ANSWER: Stephen King
4B. 
THIS IS A COMPUTATION QUESTION. A factory can make 500 widgets an hour. Assuming the machines are working 21 hours a day, how many widgets can the factory make in a seven-day week?

ANSWER:  73,500 widgets (21 * 7 * 500)

5A. 
In musical notation, what length of note is represented by a straight stem with no flags attached to an unfilled oval?

ANSWER:  half note (or minim)

5B. 
What name is given to the science dealing with the races of mankind, their origin, distribution, and culture?

ANSWER: ethnology
6A. 
What type of connective tissue is contained in the rib cage, nose and ear, and composes the 'skeleton' of sharks?

ANSWER: cartilage
6B. 
THIS IS A COMPUTATION QUESTION. Factor x squared plus 4x minus 32.

ANSWER:  (x - 4)(x + 8)
7A. 
THIS IS A COMPUTATION QUESTION. What is the sum of the interior angles of a hexagon?

ANSWER:  720 degrees
7B. 
From what metaphysical poet do we get the lines "Had we but world enough, and time / This coyness, Lady, were no crime"?

ANSWER: Andrew Marvell
8A. 
Officials have announced that what two countries, who have been at war since 1950, will field a joint team at the 2008 Olympic Games?

ANSWER: North Korea and South Korea
8B. 
What river, the fourth-longest in the United States, was the boundary between the United States and Mexico between 1819 and 1846, and flows through the cities of Wichita, Tulsa and Little Rock?

ANSWER: Arkansas River

9A. 
She won the Nobel Peace Prize in 1931. Name this late 19th- and early 20th-century American social reformer who wrote The Second Twenty Years at Hull House.

ANSWER: Jane Addams
9B. 
What is the proper term for a male duck?

ANSWER: drake
10A. 
What leader of Athens repealed most of Draco's harsh laws and introduced concepts such as the trial by jury?

ANSWER: Solon
10B. 
What Chinese philosopher wrote the classic, The Art of War?

ANSWER: Sun Tzu
Third period, 15 toss-ups, 10 points each
1. 
This movement was founded in the 1960s by Prabhupada [prah-boo-PAH-dah] and is named for the words in the chant its followers sing on urban street corners around the world. In recent years, it declared bankruptcy to pay settlements related to child abuse charges. What is the popular name for the group officially known as the International Society for Krishna Consciousness?

ANSWER: Hare Krishnas

2. 
The Ojibwe [oh-JEE-bway] name for this lake is 'Gitche Gumee' [gih-CHEE goo-MEE] which means 'big water.' It was the location of the famous wreck of the Edmund Fitzgerald. Cities located on this lake's shores include Marquette, Thunder Bay and Duluth. What is this largest freshwater lake in the world and westernmost of the Great Lakes?

ANSWER: Lake Superior
3.
In what comedy, written by Richard Sheridan, will you find the brothers Charles and John Surface, their wealthy uncle Sir Oliver Surface, and Lady Teazle?

ANSWER: The School for Scandal
4. 
Equal to 10,000 gauss, magnetic field intensity is measured with what unit abbreviated with a capital T?

ANSWER:  tesla
5. 
As a slave at age 12, he was sent to Baltimore and taught to read by his master's wife, despite the disapproval of his master. At age 20, he escaped, disguised as a free black sailor. His final home, Cedar Hill, is now a National Historic Site in Southeast Washington, DC. Who is this abolitionist leader noted for founding the newspaper, The North Star? 

ANSWER: Frederick Douglass
6. 
The term was used by Theodore Roosevelt to describe the 'pulpit' the President had to speak to the country. What name is also given to an older or bigger student who harasses or otherwise torments students he or she sees as weaker?

ANSWER: bully or bullying
7. 
In the sentence "I not only scrubbed but also waxed the floor," identify the correlative conjunctions.

ANSWER: not only and but also
8. 
This Virginia-born doctor served as a surgeon with the American army in the late 1800s. In 1900 he carried out research in Cuba that showed that yellow fever was carried by mosquitoes and was able to eradicate the disease from the region. Name this man for whom a medical center in the D.C. area, which may soon be closed, is named.

ANSWER: Walter Reed
9. 
Born in Indiana, he grew up with the name William Bailey, but as a teenager he changed his surname to that of his biological father.  At 17 he moved to Los Angeles with his childhood friend Izzy Stradlin, and they helped form an early version of the band L.A. Guns.  By 1987, what singer's own band gained fame with the album Appetite for Destruction and the songs "Welcome to the Jungle" and "Paradise City"?

ANSWER:  William Axl Rose
10. 
THIS IS A COMPUTATION QUESTION. Convert 767 into Roman numerals.

ANSWER:  DCCLXVII
11. 
What strong base, also known as lye, yields table salt, or sodium chloride, when it is neutralized by hydrochloric acid? 

ANSWER: sodium hydroxide
12. 
Derived from the Latin name for tailor, what is the longest muscle in the body?

ANSWER: sartorius
13. 
He conquered Sumer and Akkad, ending the Sumerian kingdom once and for all around 1760 BC. Who is this Baylonian king probably best known for a giant monument on which he had the laws of his kingdom carved? 

ANSWER: Hammurabi (hah-moo-RAH-bee)

14. 
It can either refer to the body or to a military rank above private first class and below sergeant. What is the word?

ANSWER: corporal
15. 
In this film, comedian Buddy Hackett provided the voice for a seagull named Scuttle.  Musical numbers in it include "Poor Unfortunate Souls", "Part of Your World", and "Kiss the Girl", the latter performed by Sebastian the Crab.  What was this 1989 Disney classic featuring Ursula the Witch, Prince Eric, and Ariel, the title character who is transformed into a human?

ANSWER:  The Little Mermaid
Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1. 
These two Latin words mean 'it does not follow'. What is this phrase used today to describe a radical change of topic or a logical conclusion that does not make sense given the arguments?

ANSWER: non sequitur
2. 
It is a mixture of the herbicides 2,4-D (two-four-D) and 2,4,5-T (two-four-five-T). It received its name from the color of the barrels used to transport it. What is this substance, used during the Vietnam War as a defoliating agent, which is blamed for post-war health problems among the Vietnamese and American veterans? 

ANSWER: Agent Orange
3. 
The misguided policies of Lord John Russell, who refused to continue importing corn, helped make the misery worse. Black 47 was the worst year of what natural disaster that caused the population of Ireland to decrease by 20% between 1841 and 1851, due to a disease attacking its staple crop?

ANSWER: Irish potato famine (accept clear-knowledge equivalents)

4. 
He was supposedly the son of Hypnos, the god of sleep.  Often depicted on a black bed surrounded by sleep-inducing poppies, he would appear to people in human form but could take any shape that he wanted.  Who was this Greek god of dreams who shares his name with Laurence Fishburne's character in the Matrix trilogy?

ANSWER:  Morpheus
5. 
THIS IS A COMPUTATION QUESTION. In lowest terms, what is the sum of the two fractions 1/8 and 3/10?

ANSWER: _17/40_ (10/80 + 24/80 = 34/80 = 17/40) 

All questions ©2005 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

